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Chapter: Integration Class: XII

Topic: Special forms Date: 09.07.2020

Choose the correct option (1X15=15)

1. jd_xz
5+4cosx
2 41
(A) “tan™ —tanx]+c
3 \ 3

(1
—tanx |+c¢
\ 3 ]

2 41 1. 1 x
(C) =tan'| —tan= |+c —tan= |+c¢
3 3 2

\ 3 \ 3

Ans. (C)

2.
'[[x +a?)(x? +b2)

1 1 1 x 1 1 X
(A} m{gtan 1[5]—31:3” 1(;)}1’{
1 1 1 x 1 1 X
(B) —M[btan ‘(E)—Etan ‘[a)]+c
(€) [ tan 1(5)—ltan‘1(£n+c
b b) a a
(e (32 ()
(D) —| —tan | —|——tan | —||+cC
b b) a a




(A) Ltan“{tan X)+c

J2
1 tan“( 1 tanx}+c
\/5 J2

“ e

(A) %tan“[i’.tan2 X)+c

1+35|n x

(C) tan_1(tan X)+c

5. dx equals
‘[2.!( +x+1

L _1f 4x+1
(A) \Etan ( ﬁ)+f
1 _1f 4x+1

c —
(C) ztan ( N )+c

6 jIr'+5(:u::1r5):: -

1 X
tan—]+c

ﬁ{ﬁz

(C) ltexrf][tani)ﬂ?
4 2

(A) tan

1 _1(1 )
—tan Etanx +C

2

None of these  Ans. (C)

1 _
Etan 1{Z'rar*u)r:}mtf:

None of these  Ans. (B)

Ltan_1(4x+1]+c
27 J7

None of these  Ans. (D)

1 _1( x]
—tan”'[ tan= |+c¢
7 2

Ans. (A)




7. dx is equal to
J 2+4x+13

(A) In|x2+4x+13|+c (B) %tan“(tanXT“]+c

(2x+4)

(x? +4x+13)°
Ans. (B)

(C) In|2x+4|+c (D)

8. J —— is equal to
COS X —sinx

(A) iIntan(£+3—}r]+£
J2 2 8

(B) L

J2

(C) Lln

J2

(D) Lln

J2
9]2

(A) sin"'(x+1)+c (B) sinh ' (x+1)+c

+2x+2

(€) tanh (x+1)+c (D) tan '(x+1)+c Ans. (D)




10 J3sinx+2cnsx
" J3cosx+2sinx

(A) Ex—iln\3c05x+25inx\ +C

13 13
12 5

(B) — x+—In|3cosx+2sinx|+c
13 13

dx =

13 5
(€) —x+—In|3cosx+2sinx|+c

12 13
(D) None of these

J dx _
(x=1(x*+1)

1 1, . 5 1
A) =In(x=1D=-=In(x“+1—=-—tan x+c¢
(A) > ( ) p ( ) >

(B) lIr'n[,:f —1)+ llnl[.:r2 + 1]—ltan" X+
2 4 2

1 1 1
C) —In(x=1—=—=In(x?+1)——tan" ' x+c
(C) 3 (x=1) 5 ( ) 5

(D) None of these

(x” + x —1)dx _
i{.:f2 +x—6)
(A) x+In(x+3)+In(x=2)+c

(B) x—In(x+3)+In(x-2)+c

(C) x—In(x+3)=In(x-2)+c
(D) None of these




J- x2 dx _
(x2 +2)(x% +3)

(A) —/2tan'x++3tan ' x+c

(B) —\/Et.an_1 L+\./§t.an;I i+r:

V2 V3

X X
(€) V2tan'—+3tan ' — +¢
J2 J3

(D) None of these

J- dx _
(x% +1)(x% +4)

(A) Tian "'x—2tan X 4c
3 3 2

1X

(B) 1tan_1 X + 1tan_ —+cC
3 3 2

(C) l‘fan_1 X — ltan_1 X +cC
3 6 2

(D) tan™'x—2tan™ % +C

J dx B
cos x(1+cos x)

(A) In(secx+tanx}+2tan§+c
(B) In(secx+tanx)—2tan§+c

(C) In(secx+tanx}+tan§+c

(D) In(secx+tanx)—tan§+c Ans. (D)
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